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Question Number : 5 Question Id : 469750605

‘What is the area of the triangle whose sides are given as 16 cm, 63 cm and 65 cm, respectively?
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Answer:

504 cm?

Question Number : 102 Question Id : 469750702

A square park has an area of 1000 m?. A path of width 3 m is made all around inside the park. The cost of tiling the
path at the rate of ¥ 150/ m? s:
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Answer:

Deleted
Question Number : 113 Question Id : 469750713
In the figure, if AABC : ADEF and their sides are of lengths (in cm) as marked along them, then the area of ADEF is:
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